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BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : 
	

(i) 	Attempt any five questions. 

(ii) All questions carry equal marks. 

(iii) Use of calculator is permitted. 

1. (a) What do you understand by soil erosion ? 
	

5 
List its causes. 

(b) Describe gully erosion and classify the 	5 
gullies based on gully depth, width and side 
slope. 

2. (a) Define slope length factor and slope 	5 
gradient factor in universal soil loss equation. 

(b) Calculate the annual soil loss in tones per 	5 
ha using universal soil loss equation from a 
watershed with the following data : 
(i) Rainfall erosivity factor = 700 
(ii) Soil erodibility factor = 0.20 
(iii) Crop Management factor = 0.60 
(iv) Conservation practice factor =1.0 
(v) Topographical factor = 0.2 
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3. (a) Write the equation used for estimation of 	5 
soil loss by wind erosion and define its 
different terms. 

(b) Explain how timely sowing and crop 	5 
canopy manipulation and Intercropping 
minimize soil erosion. 

4. (a) What do you understand by contour 	5 
bunding ? List its functions. 

(b) What are temporary structures ? Enumerate 	5 
their advantages. 

5. (a) What is chute spillway ? List its different 	5 
functions. 

(b) Write a note on Earth Fill Dam. 	 5 

6. (a) Explain how surface water harvesting is 3+2 
different from in-situ water harvesting. 
Name any two in-situ water harvesting 
techniques. 

(b) List the important points to be observed for 	5 
ensuring efficient artificial recharge 
structures. 

7. (a) What do you understand by artificial 	5 
ground water recharge ? Describe three 
basic ideal conditions for ground water 
recharge. 

(b) Define runoff coefficient. Calculate the 	5 
runoff from a 400 ha area comprising of bare 
ground (Runoff coefficient = 0.30) if the 
rainfall depth during a rainfall event is 
120 mm. 
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